


Some operations:

243 ——* 5
23 —> 6

23— * 8

AN

“ERERET

-2"31, ...,-2,-1,0,1,2, ..., 2"31-1 . Int

div72

mod72 ——

ZIRHNEREE T
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1.5,0.425,3.14159... :: Float

Some operations:

25+15—>40
3-12——1.8
1.414272 —*1.99996

1/3 > 0.333333
sin (pi/4) —> 0.707107

.
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« 3%4*5 EfES: 5-4-3
« 3*7 +4.1 AfES: 5/M483

i E » square 3 * 4 AT 5+4+3



“IEEEFEEIIaY

o U3V FIITKONTZBEEF
(+) ;- Int = Int = Int

(F)Xy=x+y

o BHIZHRER: 5IBFEREFEEDITIEINTLKS
XD)y=X®Yy
(@X)y =y ® X

(*2): 2195 B
(1)  FHERDHD B
(/2): 27795 B

l.E (+1): DFEDEZHSH B




R e a8

e DEDBEBMIIEDLSETIFIZLT
TrueziR9 D\,
- (==9). (2+) . (7")
e IELLMDIFEN?
- () x=(")
- (+) x = (x+)

= (1) x=(x)

. -




Bl : EHIRDET & sqrt

. fIER
RDERRZEFE - sqrtBAEEET 5,

EEEBHxIZHLT
sqrt x >=0 1D abs((sqrt x)*2-x) <=¢

.




BlzE : FHIBDETHsqrt (cont)

« Newtonix
Y(N)ZxDEFIRDELUEET HE
y(n+1) = (y(n) + x/y(n))/ 2
[2&LBy(n+)Idy(n)KYELELELRHETHS.

Bl: 2OFEHFROFE

=2
= (2+2/2)/2 =15 improve
= (1.5+2/1.5)/2 = 1.4167

<

(1.4167+2/1.4167)/12 = 1.4142157
$&1E 5544 - satisfy




BlzE : FHIBDETHsqrt (cont)

« A—2BH%K

sgrt x = until (satisfy x) (improve x) x

abs(y"2-x)<eps

HAFHUNEIZGEHETHYHIE
IR Z#EYIRLTEAT S

|

y(0)

y(n) =2 y(n+1)




improve BE#

« EEUEYMFTLLVEEHEZE T HEIK

improve :: Float 2 Float - Float
improve Xy = (y + x/ly) / 2

FEilEBRRMICRT &
improve :: Float - (Float - Float)
(improve x) y = (y + x/ly) / 2




satisfy Bz
s BTEHZHIET HEM

satisfy x y = abs (y*2 — x) < eps

Q: satisfyBEZIDE! (L ?




until BE%K

3735 ﬁ:pb\gl 7&%?11‘)]3%'5( B9 ofahe

untilpf x| px=x

\ | otherwise = until p f (f x)

= FER 2 B RR 5 | - Z BN DB %K



704951 sqrt.hs

sgrt1 x = until (satisfy x) (improve x) x
where
improve Xy = (y + xly) / 2
satisfy x y = abs (y*2 — x) < eps
eps = 0.0001

SHLEROEARHYE > BELOILS
|-E (HRE p.24, GBRE 2.1.7)



NewtoniE D — i 2%
. f(x) = ODBERDDF

yD B ZFDIRDELHETH ST,

R f(y) / f(y)
MEYKLVEDELETHS.

N
L)
L




newton f x = until satis improve x
where satis y = abs(f y) < eps
improvey =y — (fy/derivfy)
deriv f x = (f(x+dx) — f x) / dx

sgrt x = newton f x

I.E where fy = yA2-x



RIEE Bool

True, False :: Bool

W EE  FRIEEZ R I B %K
« E.g. even :: Int = Bool
o LEEVEE T
== %LL\ 1==
/= ZLLEELY True /= False
<  KYipEhy
>  KYXKEL
<= KYNELWMFEIFEHELL
>=  XYKELVAFEIFEHLL
- WIEEEF
&& imIEtE

- | R
* not WEETE




Hled : EF DHIE

» EFELIE 4TEIYVUINSETHASH. 100
TEIYEUINSE5IE400TEEIY TINLELT
ERACYA AR

leapy=y mod 4==0 &&
(y ‘'mod” 100 /=0 ||y ‘'mod’ 400 == 0)

=7=1%

ip

leapy|y mod 100==0 =y mod 400== 0
| otherwise =y mod 4== 0



Z Db R

b
d
a<=b<=cC
analysisabc
a+b<=c =0 -- =gkTiEEn
a==b && b==c =1 - E=fAk
a/=c && (a==b || b==c) =2 - 0=k
a<b && b<c =3 - —B=Ak




XFE

‘a ‘7’ ‘o Char

=¥ N3

o

—ord :: Char 2 Int
—chr :: Int 2 Char
5: ord ‘b’ =>» 98
chr98 = b’
chr(ord’ b +1) = °C




5l 8

s XNFEIHFTHAETHITET S
isDigitx =0 <=x && x <=9’

+ INXFERXFICEZDEH
capitalise x
| isLower x = chr (offset + ord x)
| otherwise =X
l_Ewhere offset = ord ‘A’ — ord ‘@’




X 5B

a’ “hello” :: String

« XEFIHDEEILTBEDFEXNEIZRKESD
“hello” > “hallo”
“Jo” < “Joanna”

— show :: a - String
show 100 = “100”
show True = “True”
show (show 100) = “"100™

XFNZEDECERERF ++

“hello” ++ “ “ ++ “world” =» “hello world”




wH &Y

e (T1,T2,...,Tn)
—(17.3,'+’) :: (Float,Char)
—(3,6) :: (Int,Int)

s B :TIFEXIEF
—(“s",4) < (“s”,9)

—fst (X,y) = X

—snd (x,y) =y




Bl 2R AFEIC

« 2RAENDIRZ KO DHEK
ax"2+bx+c=0 (a,b,c)
U
let d = b"2 — 4ac.
If d >=0 then (r1,r2)

r1=(-b+sqgrtd)/2a

r2=(-b—-sqrtd)/2a



roots :: (Float,Float,Float) - (Float,Float)
roots (a,b,c) | d>=0 = (r1,r2)
where
r1 = (-b+r)/ (2*a)
r2 = (-b-r) / (2*a)
r =sqrtd
d =b"2-4%a"c

.




B2 : HHEZL

- EEHHDORIF X
Xly = (X,y)
. [ElRE:
- BEHOIERIE (18,16) > (9,8)
- BEHOMAEE
- BIBHOLE
- FBHOERTR

ip




BHEMOIERE

)7
X gcd(| x |,| v

— = sign(x*y)
y Y/
ged(| x|, y




norm (X,y)
ly/=0 = (s *(u 'div d), v div d)
where u = abs x
v=absy

d=gcduv |;y
s = sign (x*y) X ged([x |,[ )

— =sign(x*y)
y | y/
ged(|x|,] y )

sign x | x>0 =1

| x<0 =-1

| x==0=0



FEZLOMEER

radd (x,y) (u,v) = norm (X*v+u™y,y*v)
rsub (x,y) (u,v) = norm (X*v-u*y,y*v)
rmul (x,y) (u,v) = norm (X*u,y*v)
rdiv (X,¥) (u,v) = norm (X*v,y*u)

.




AEH DL

compare' op (X,y) (u,v) = op (x*v) (y*u)

requals = compare' (==)
rless = compare' (<)
rgreater = compare' (>)

.




BEHD

showrat (X,y)
= if v==1 then show u
else show u ++ "/" ++ show v
where (u,v) = norm (X,y)

st
|
/7




INI—>

« FXDEMIZNF—2ZFZHWTEMETE
H£9 DEMNTESD,
— imIBEN\I—
cond True xy = x
cond False xy =y

Jr
condpxy|p==True =X
|p==False =y

. -



- BARB(ETIEWELR) /N3—2

pred0 =0
pred (n+1) =n

count0 =0
count1 =1
count (n+2) = 2




ESE

« BRI HLRPAHEDIEZSIFIZEYHH
L. HoPAHEFEDEZHFRELTIRI &
MWTE5,

— 51 . S FEBE 24
« 5l ELTRE#MZE LS. HHWLE
« FERELTREBERT
W EEF: 5% - B
fasR — ERR
l_E > BA¥OHNE




205 Rk

s ZDOMNMEAMTERITHERF.
()2 (b>c)>(@>b)>(a>c)
(f.g) x="f(gx)

(f.g).h=f.(g.h)




EEF EE

» ZIRERFIEIEABEILTND, BEEDHRIE2
DD BDHENZTELD TIHGELMEITECENS T
EZITH 5,

® D ¢V A

—tooar: EHEF > B
2+3 D (+)23 (2+)3 D (+3)2

— NV OF—F: ZB|IHEAH D> ERETF

* div53=> 5 div 3



sCIESE-

B B B 2K

—Vxyy A fx=fy = x=y

» E5EI%K

—VyinB,dxinA.fx=y

—f ' (fx) =x
— 451 f x = (sign x, abs x)

. -

f (s,a)=s"a



IE S B 2 &I IE A B 3K
» IEASEAHK

-TE&E: fL=1
—f51: square (1/0) = L
« JEIFA&EHEN: IEFE THULVEERR
—f51: threex=3
> three (1/0)
3

o



I IEARTEE IR R D F| R
+ FHMEICET REMLOT L

2 +three x =25
> B TH — R E ek
27073 LDEHEEERLALT L
- EHEEEL T, H-onEaEERTHIL
MTED,
condpxy|p = X
| otherwise =y

recip x = cond (x==0) 0 (1/x)
ERGTEKRATIE  recip0=1

* JEEEFREERIFETIEL recip0=0




LRSS

fx1x2 ... xnMDEH

.+ AT
— 512012 ST ET i B RS

X1,x2,... xnzaH i LIzofzHli 9 6.

. SEIEEH

— (SMEI D) B 2 S 3 A o S

fZ=%9 51l 9 5,




ONCE-E

- IhEE. AR LEZSI-ICEY., AELIE
B CRNAOFTLIMLEBICHZFTZRENT 4
B§ 4% move:

move :: Float->Float->(Float,Float)-> (Float,Float)

move d a (x,y) = (x+d*cos a,y+d*sin a) A

d

type Position = (Float,Float) a

type Angle = Float (X,¥)

type Distance = Float

%ove .. Distance-> Angle—>Position—>Position



B e am

1 AFRAI
fx:t
. x o t, ftt->t

« FFMERA

x::t, xo:t
t=t’
- BHEDFRAI
t2u=t->u’

l.E t=t’, u=u’



() fgx=f(gx)

BB LERIZEFEIYYHTS 35
fRA] X116

=y gx:it g:: t6>t5
g t2 f:t5>t4
b / < L E%EHHRA
f(gx)::t4 i A t1 = t5°>t4
(.) nt1>t2>t3>t4 t2 = t6>t5

t3 =16

.'E (1) i (152t4) > (t6>15)>t6>4



: 5

e fst2 :: t5>13
fst :: (a,b)>a

(+) :: Int>Int>Int SRy td
(+) (fstl x) :: t4>1t3

ot
” / / X it/
2
Y fstl x ** t6 /Tstl  t/>t6

fstl x + fst2 y :: t3

fxy="fstx+fsty
y i

(+) :: t6>t4>13

fitl1=>t2>13
L BB HEARE . BB ..
f:: (Int,ul) 2 (Int,u2) > Int



fix f = f (fix f)

fi:t4
Pt fix fi:t3 =% fix :: 453
F(fix f) :: t2 f::t3> t2
fix 11 t1>12 @
tl = 3212 = t4
tl = t4
t2 = t3

fix i1 (t22>12)>12




selfapply f = f f

Selfapply :: t1> t2

1y

t3 =13 >t2

©
l'! EOEREBISHT BHELEENDT, BIS5—




